H ok
ONTENT

SGP]."V_{:@/E;E;E ............................................................... 1
SGP1 gear oil pump

SGP2UFHETHTT coocereererevremmemmmiiniiiiniitiieiiiuiians 4
SGP2 gear oil pump

KZPABRTGIUTEETT +ovvvvvvnvenerneenmennnmiitietiiiiii e 7
KZP4 series gear pump

DSGOGRIE B EEETHIZR  crovrevrerorrerrorrorsneeretentnentattitonaeenns 9

DSGO06 gear oil pump of lower noise

C101/102 E ﬁu $ﬁ$@ﬁ ................................................... 10
C101 /102 dump truck gear pump

KP1505AEE|]$§$9"|'7§ ................................................... 11
KP1505A dump truck lifting gear pump

Kp1405AEﬁ|]$ﬁ_-ig}|.;E ................................................... 12
KP1405A dump truck lifting gear pump

KP1403AEEI]$§59"|'§E ................................................... 13
KP1403A dump truck lifting gear pump

KP1405A-REENZEZEFLZE ovevvrrvrrresensnsnosainuinninniniiniinaan 14
KP1405A -R dump truck lifting gear pump

KP1403A-RE ﬁﬂﬁzéﬂ'?ﬁ ................................................ 15
KP1403A -R dump truck lifting gear pump

KPA_13OZB§ ﬁl]i;‘z_—ié}l—ﬁ ................................................ 16
KPA -1302B dump truck lifting gear pump

Kp75AEﬁ|]$ﬁ_-igﬂ.;§ ...................................................... 17
KP75A dump truck lifting gear pump

Kp755§ﬁu$§g}|.§§ ...................................................... 18
KP75B dump truck lifting gear pump

KP75SE ﬁpig.gﬂ-;ﬁ ...................................................... 19
KP75S dump truck lifting gear pump

KP55 E ﬁﬂ $ Egﬂ. R R P PP PP PP P Y PP PPEPPPPPTRRPRPPD 20
K P55 dump truck lifting gear pump

GPG55E ED $Zé9’-|-,§ ...................................................... 21
GPG55dump truck lifting gear pump

KP35B§E|]$§$;‘|'7€ ...................................................... 22
KP35B dump truck lifting gear pump



SGP1 ﬁiﬁiﬂiﬁ SGP1 gear oil pumps

—. &

SGPI1RFERRE—MIRE"R, ERTEERAERARIT AN, EEFRFMR. AR, REFENTS. EHESEREZ
MU SREEHLA. IR, BIAMETL 2R, HASETMREINEREE.
SGP1 series gear pumps are environmental friendly products with the features of low noise, smart structure and easy installation. The pumps are

widely applied in the industries of hoisting and conveying machinery, road machinery, environmental protection machinery, light industry machinery,
etc. The pump has been the first option accessory parts for variety of environmental friendly main equipment.

—. SMEHE

SGP1 ﬁiﬁiﬁ?ﬁ SGP1 gear oil pumps

115

DE;HO Oil Port in Styel D

=. BIEi}B] Model descriptions
1— L

SGP1 — 32 D S H 1
@ @ @ @60 ©® 0

DSGPL Series
@3% 2 1E 0 R~ Mounting spigot diameter
—: 82700 A: ©82550 5
C: P80 §ops B: PB5G5°
@NMHE (ZEFED
Nominal displacement (mL/r)
19. 23, 25, 27, 30. 32. 36
@;MOHIE Position of ports
D.[=HE# O Rear port
FiumE#E (EF=L) Sideport (on cover rear)
AMEMO (FERELD Sideport (on body)
®3m O Port configuration
LSAE)=m0 (RAFME
SAE flange port (side only)
RO Inlet: ©25; 52.4%26.2; 4-M10*%1.25
Hi3B 0O Outlet: ©20; 47.6%22.2; 4-M10*1.25
2.GI24 (JISB2351) [IPFIZLL
G screw thread (JISB2351) same as PF
#mOInlet: G1
HimOOutlet: GU/2. G3/4

3.UNF247 UNF screw thread
S #EOA Inlet M27+2 Wil O Outlet M22*15
SL: (AZLHOEA30 EHER)
S1 (A type port apply to the displacement of 30. 32. 36)
#HA Inlet: M33*2 Hih A Outlet:M27+2
9.43%k Special
®% %73 Mounting
H:7k 77 [m 24N 8244 #ro0 B Horizontal 2 bolts: 106
H1:7k F 75 [m24~ 4242 1.0 B Horizontal 2 bolts:130
@4hfE A Shaft type
1.SAETE#E SAE spline: 16/32DP, 541 Teeth No.: 13, ¥ Length:42
2R (B EZ 20 Straight spline (dia ©20)
5.SAE7L#E SAE spline: 16/32DP,i5 4] Teeth No.:10,1¢Length:33
H.56 4 142 Rectangle spline: 6-20¥16*4, 4¢Length: 70
H1. 4621252 Rectangle spline: 6-20*16*4, {<Length: 41.5
9.45% Special
®nEdt A (4iHE) Direction of rotation (from shaft end)
L: &M (iETEE) Left rotation (counterclockwise)
R:AHE (BT Right rotation (clockwise)
©i&1t5E Code number

M. #4EES Performance parameters

we Amig TN ey e Voloatic 2
Models displacement & BE5 5K e 55 Efficiency L Weight

(mL/ Rated Max Min Rated Max (%) tkg)

SGP1-19 19 115.5 4.1
SGP1-23 23 118.5 4.3
SGP1-25 25 122.5 4.6
SGP1-27 27 20 25 600 2500 3000 92 124.5 4.8
SGP1-30 30 126.5 5.0
SGP1-32 32 1315 5.4
SGP1-36 36 130.5 5.8

Al
5 49 —H4 130
25 6.5 106
\ = W T D
S
cEE=lD | B D .
T o E’iﬂpg’ .
g (@S ] 1
ST AN s
peiiz:|u| N~ furgz:]m!
Outlet
Inlet utle %)"'L“Wﬁiﬁéft"[ S e—
See “Shatend”
FEHAO ( Rear Port )
i =2 23 25 27 30 32 36
Displacement
Al 117 118 122 124 128 132
AZLHO Oil Port in Styel A
B
A
65 |
| 4-M10x1.25
E,_: c
=T B
2. A
o aﬂ.g T
[N = |
415 g
S “WEpL”

ME;d0 ( Side Port )

See “Shatend”

H 2

MO Inlet port 380 outllet port

Displacement A B c1 c2 D c1 c2 D
30 64.3 124
32 66.3 128 26.2 52.4 25 22.2 47.6 20
36 68.3 132




SGP1 ﬁiﬁiﬂiﬁ SGP1 gear oil pumps

FEHO Oil Port in Styel F

59 59
A
65 |
AN N
N =5 ——— O
0 - T g BTG N
dlg O~ i 2 A$‘€* Flange Port
P - - 1T - D 1
. il *
=
“ ANl 03
Q&JL\ N | \ |
HmA . I
T — S0 “HiEHR
i Outlet Port See “Shatend”
Inlet Port
H 2
Displacement A B
23 107.0 130.5
25 108.5 132
27 112.0 135.5
30 114.5 138
32 118.5 142.0
36 122.5 146.0
L 5: 2: 4 Straight Spline
SAERRAE SAERRAE
42 33 ‘
. " . >° | )
i % No.of tooth 13 33 5 %1 No.of tooth 10 20 . S
D.P. 16/32 D. P. 16/32 ‘%
& 71 3 Pressure angle 30° _ £ 71 f3 Pressure angle 30° ‘
C.P. 0. 1963” C.P. 0. 1963” - T \
4N 12 Over pinida 4h 42 Over pinida <EH =1
@ 21.80 o @ 17.043 ‘ 24 ‘ - i
@ 21.68 216.916 '
%K1 Pindia © 18.63 #K{E Pindia 213.86
H, H1: 52t 52 9: 457K %E 5% Special ord
REE
70(41.5) |
53(25)
iz =
§§ Shaft end D ! L
N Py
g 25 FH
Straight spline 20 22.5 42
NO.2
ORI Rt AHLIE MR+

SGP2 ﬁiﬁiﬁ?ﬁ SGP2 gear oil pumps

—. &

SGP2R IR R R B Hm 8 B s AMER R @ R E T EHH S

WEEER, XRA=ZTREN; HRXHADUMK; MRAINEEY

B pE, REABRERASM; PEEAHRG, XEEFLEME. NTBULRSEERNMEER. FHRITEMN.

SGP2A series gear pump is external gear pump possessing axial clearance automatic compensation and radial hydraulic balance,adopting three
opening struture.The bearings are DU bearings and the side plate is bimetallic material. The front and rear covers, are made of aluminum accessory
with high strength.The middle part is consist of iron casting and the surface is covered with meta ceramic.All above improve the

performance,lifetime and reliability of the pump.

—. SMEHE

=. BISiHM Model descriptions
SGP2 — 36 D

O o 6 o
(OSGP2 Series
@3%2 1k 0 R~ Mounting spigot diameter
— [0} 82 -0.036 Z D 102 -0.036

-0.090 -0.090
A:®82550%, B:d10163,

@NHHE (ZF/E
Nomina displacement (mL/r)
20.23.25.27.32.36.40.44.48.52
@;mOfIE Position of ports
D.JRHE;H A Rear port
FEHmO (ER2=_L) Sideport (oncover rear)
AMEHHEA (ERIKLE) Sideport (on body)
®;mOF Port configuration
LSAE#=H0 (REATIBUTHS)
SAE flange port Conly for the displacement below 36mL/r)
@O Inlet: ©25; 52.4%26.2; 4-M10*1.25
HiHO Outlet: ©20; 47.6%22.2; 4-M10%1.25

M, t4gES% Performance parameters

l_ L *%k%

1H
® ©®©0o ©® O

2. Gi24r (JISB2351) [E]PFZLr
G screw thread (JISB2351) same as PF

#imOinlet: GL HiH A Outlet: G3/4
3.WHZLL W screw thread
9.45%% Special

®%% 73 Mounting
H:7k 77 [m 24 8244 Fh o0 B Horizontal 2 bolts: 106
H1:7k F 75 [m24~ 1242 .0 28 Horizontal 2 bolts:130

@4 M7 Shaft type
1.SAETE$2 SAE spline: 16/32DP;15 % Teeth No.:13,4¢ Length:42
2R (AhHETE P20) Straight spline (dia ©20)
9.45%k Special

@nEkt 7 m (MimE ) Direction of rotation (from shaft end)
L:ZEHE CGifRTEE) Left rotation (counterclockwise)
R:AME (IFFTEE) Right rotation (clockwise)

©@i&itF S Code number

AFRHEE IE 7] Pressure % j# Rotation speed " =
ne f\‘,mﬁgjﬁ (Mpa) —— (fmin)_— llrt?réltﬂ Eléajrle WEeifht
Models displacement HE =1 &K = I\'/)Ipa (k)
(mL/» Rated Max Min Max 9
SGP2-20 20 4.9(4.4)
SGP2-23 23 5.1(4.6)
SGP2-25 25 5.3(4.8)
245 29.4 3000
SGP2-27 27 5.4(4.9)
SGP2-32 32 400 0.02~0.2 5.7(5.1)
SGP2-36 36 5.9(5.3)
SGP2-40 40 22.6 275 3000(2500) 6.1(5.4)
SGP2-44 44 20.6 245 6.3(5.6)
SGP2-48 48 . . 6.6 (5.9)
18.6 22.6 3000(2500) —_—
SGP2-52 52 17.2 20.6 6.8 (6.1)




SGP2 ﬁiﬁiﬂiﬁ SGP2 gear oil pumps

A, SMERTHE

SGP2-XXF1IHX-LXXXX

L1 6.5
L2 eI EAS
R47.5 .
SHREIED
] /1 ]
e i
0 o N$ JR I | 6 NI I
:'1 d @7 4“:‘7
— + - - '
< R
o N
\*\é%
| [
26.2+0.3 |
25
4-M10
vpiz: |
(32}
© [=}
- -+
o ~
— o
n
30.2+0.3
@32
i RIERSTAZE+1.0
R47.5
S R%EO
— 4-M10
L4 w22

F: RERTQAZELX10

3 A @ 32

e 13-

=S 5§

30.2+0.3

58.7+0.3

SGP2 ﬁiﬁiﬁ?ﬁ SGP2 gear oil pumps

SGP2-XXD2HX-LXXXX

R47.5

#iHAG1

7. BB

SAET T 2 1k g4 (s
42
x
EZE g
3
/ 29 3
- Q

HimaG1/2

0
-0.127

@ 21.806

L3 6.5 & mamHmk
! —\7777
1 A i I L ‘
U \ L
g B =
| o B B
i‘_‘
J H
| BREEIEN
NRHEE L1 L2 L3 L4
20 140.9 99.6 107.4 52.8
23 143.9 102.6 110.4 54.3
25 145.9 104.6 112.4 55.3
27 147.9 106.6 114.1 56.3
32 152.9 111.6 119.4 58.8
36 156.9 115.6 123.4 60.8
40 160.9 119.6 127.4 62.8
44 164.9 123.6 131.4 64.8
48 168.9 127.6 135.4 66.8
52 172.9 131.6 139.4 68.8
i RIERSTAZEL1.0
B O 13
7z B 16/32
Ehf 30°
FHERE | 24.819~24.891
BREE ©3.048
T B MOME
HHARR | kAR .
RiEkE | FERE | FEM®E
»32 »25 DRHEER2U L — O
®25 ®19 NIRHEE27~36 - AERHEE20~36
G1 G1/2 - O O




KZP4/KRPARS| 55 IR KzP4/KRP4 seriesgear pump

KZP4& 555K

KZP4 series gear pump

KZP4. KRPARFIERMREMRASBERSEME, NAEERT HEERFENME, ZETE, DUREE, SRXANE
AL, mEME, FeREEHa, NZEATER, MIXE, ZH, BEN 2

NEEZTEHKAR, ERAEFRNES, Eha, B
B, ERNEIERNMURT L, BT, FI, RINFTL,

KZP4,KRP4 series gear pumps adopt the material of high strength aluminum alloy and advanced technologies of axia clearance floating
automatic compensation, radial balance, DU self-lubrication and gear with double pressure angles, making the pumps with the features of high
volumetric efficiency, high pressure, lower noise, strong shock resistance, long lifetime, etc. The pumps are widely used in the industries of mining
machinery, light industry machinery, environment sanitation machinery, agricultural machinery and he engineering machinery of forklift, loader,
excavator, road roller, crane, etc.

155488 Model descriptions

(DKZP4, KRP4
QAMHE (ZFH/ED

KZP4. KRP4

@

Nominal displacement (mL/r)
7. 9. 12, 14, 17, 19, 23, 27, 33

OnEEEA R HiRE)

Direction of rotation (from shaft end)

AFERE GEBTEE) Left rotation (counterclockwise)

C:AHE (JIfBTEH) Right rotation (clockwise)

@175 Shaft type

P4 Straight spline  S: SAE ### SAE spline
T R 5h Taper shaft  X: #iFFXNEHE  Involute spline

®;mORF Port configuration

SSAEZEZiMO
SAE flange port

5O Inlet: © 25; 52.4%26.2; 3/8-16UNC (M10*1.25)

1 AP
@ 0 @

S R B

® ®

S:SAERESUR AR
SAE screw thread port
O Inlet: 145 -12UNC
Hi3H 0 Outlet: 7/8-14UNF
®;mO4IE Position of ports
R # i O ZEME (R K L)

Inlet. outlet both at the side (on body)

AdEHOERKLE, HmOEREL
Inlet on body, outlet on cover front

r=Fr3

OR%E

7= Mounting
B. 7k F A [m24 4242 0 BE Horizontal 2 bolts:106.2

1242 Bolts: M10*1.25

C. KFEF E24 242 0 BE Horizontal 2 bolts:106.2

ML Inner bore: ®11

D. /K77 [ 24 4242 Frui B Horizontal 2 bolts:106.2

H3HO Outlet; © 18; 47.6+22.2; 3/8-16UNC (M10*1.25) FA Opening
D.#5H 0 Inlet: SAES% 2 SAE flange
#3580 Outlet: 7/8-14UNF
HEESH Performance parameters
= = iR Rotati eed =
e AT B5EN ¥R Roation s 2
Model displacenent Max Pressure Weight
odes (mL/r) (Mpa) ®I% Min B35 Max (kg
KZP4/KRP4-7 7.0 2.3
500
KZP4/KRP4-9 9.4 2.4
KZP4/KRP4-12 11.9 600 2.5
3500
KZP4/KRP4-14 14.8 172 500 3.0
KZP4/KRP4-17 16.8 600 3.1
KZP4/KRP4-19 19.2 3.2
KZP4/KRP4-23 22.9 650 3000 3.3
KZP4/KRP4-27 26.5 15.7 3.4
2500
KZP4/KRP4-33 33.3 13.7 35

5pMESE Layout

| 52.4+0.1

@ 82.55 5467

?6.2‘ 0.

|
'
'
'
'
M
+0.14

4-M10x1.25

130

106.5

2-M10x1.25

130

106.5

g

=)

2-M10x1.25

52.4+0.1

&

T~

o2

262201
1

4-M10x1.25

0%1.25

0
-0.087

@ 82.55

SE4 Plain key
47
5‘ 28 |
A-A
oL “A

- A oo
19 ’ %

BiFF&IER Involute spline

I T B
Involute spline
51 13
Teeth No.
&%
S.P 16/32
ENhf 30°
Pressure angle
= 175
Major diameter] 013
N 0
Minor di;"netel 813.5 o,

2-M10x1.25

35

130

L
8.
47.6+0.1
o3
ﬁ 1
= rs}
+ (s}
o
|| H S 8
N
E 4-M10x1.25 [

106.5+0.1

0
-0.087

@ 82.55

SAEfE$# SAE spline

LRI

Involute spline

EEd

=
21 Teeth No. 10
10 HE
Modulus 15
- t f ENf a0
Pressure angle
K Q17 5
Major diameter -0.08
INE 0
Minor di;meter 813.9 5,




